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REGULATIONS 2008

SECOND SEMESTER

HS 21 - TECHNICAL ENGLISH-II
CIVIL ENGINEERING
(Common to All B.E/B.TECH.}
Time: Three Hours Maximum:100 marks
ANSWER ALL QUESTIONS
PART—A (10%2=20 marks)

1. Match the words in Column A with their meanings in

Column B: Ax%n=2)
A B
(a) contaminate (i) foreign, strange
(b) alien (i)  expert
(c) quake (iii)  pollute
(d) proficient (iv) shake
2. Fill in the blanks with suitable preposition: (4 x % =2)
A team European researchers coordinated
the University of Plymouth have invented a new device
harnessing the power. the waves.

3. Add the correct prefixes to the following words to form

their opposites: Ux¥%=2)
[ justice
(i) material
(1ii) possible
Gv)____ comfort




[image: image2.png]Fill in the blanks with suitable articles: (4xY% =2)

Apollo program was incredibly adventurous
human spaceflight program undertaken by USA
during ___ years 1961-1975.

Rewrite the given expressions as shown in the example:
(2x1=2)

Example: The pipe is 3 feet long
Ans:  a 3-foot pipe
(@) a civilization which is 2000 years old
(b) a lamp of a power of 60 watts
Combine the following sentences using words to show
causal relation: (2 x1=2)

a. The steam from the hoiler is wet. It has to be passed
through a super-heater.

b. Atomic péwer is not available in sufficient quantity,
Coal is still a very valuable source of power.

Use the following words in sentences of your own as Noun

and Verh: (2x1=2)
a. Park b. Increase

Fill in the blanks with suitable adverbs: (2x1=2)
a. The National conference was organised.

b. Many animals have been cloned.

Join the sentences using appropriate purpose
expression: (2x1=2)
a. A glass bottle : store acids

b. A moderator: slow down the speed of free neutrons.
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Fill in the blanks with appropriate tense form:(4 x% = 2)

Reading skill is always taken for granted at the tertiary
level. Most of us believe that our students ___(be) good at
reading, as they ____(practise) the skill for more than ten
years. In reality many students__ (find) it difficult to
master it. Besides it is a fact that some of them {not.
develop) the reading skill even in their mother tongue.

PART—B ( 5 %16 = 80 marks)

Read the following passage carefully and answer the
questions given at the end of it:

Man has won his dominant position on this planet
by his command of technology. Other animals have to
take nature as they find her; they must fit into the
environment that she provides as best they can. Man
alone changes the shape of his world. He moves things
about, he alters them in a constant effort to create an
environment more hospitable than that, which nature has
thrust him into. Technology is the sum total of all
different techniques . by which man changes his
environment:

Technology is characteristic of all human societies,
and it exists even among less developed tribes and
communities. Even the Eskimo uses a number of
techniques to make life more comfortable for him. He
makes clothes; he builds an igloo and a boat; be uses
needles and knives; he gets food by means of fishing lines
and harpoons. All these are techniques for changing his
wild habitat into an environment that suits him better.

More advanced civilizations have more complex
technologies, but the basic pattern is always the same.
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the spear, or the bow and arrow, or the boomerang; and
the farmer invents the hoe or the plough. There must be
means to move things about, so the community
domesticates the ox or the horse and invents the boat or
the wheel. There must be means to ward off the weather,
80 the community makes clothes and huts and invents the
tools that are needed to make them. These and other tools
need to be strong and durable. so civilizations gradually
move on from stone to bronze, from bronze to iron, and so
on. And when we think of our present age as the age of
light metals, we see ourselves in the tradition of progress
that began with stone, bronze, and iron.

Our own technological progress, then, has been a
natural continuation of earlier trends. When today we
breed new stains of corn, we are following the same aims
as the first farmers. ‘And when we send a rocket above the
atmosphere, we are following the line begun by the
invention of the wheel.

However, there is orne respect in which our
technology is markedly different. We have transformed
the simple tools of the past into complex machines. For
example, man has used such a tool as the hammer since
long before historical records began. But it was only in
historical times that he discovered that the hammer could
be made into a trip hammer that is, could be made to
deliver its blow again and again automatically, when a
tool is made to repeat the same mechanical action, it
becomes a machine. Modern civilization is built on the
use of machines in this way. However clever they may
appear, all machines at bottom are as simple as the water
wheel they do nothing but save us from carrying out
ourselves a fixed and repeated sequence of actions.
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(1)) Human beings have achieved a powerful position
on earth because of their

(ii) The spear of the bow and arrow are

(iii) In this passage, the present age is referred to as
the .

(iv) A tool becomes a machine
(b) Mention whether the following statements are True
or False: (4x1=4)
1. Technology is typical of only a few societies.
2. Humans have used simple tools since time
immemorial.
3. Other animals can modify their environment.
4. Eskimos represent less developed society.
(c) Give the meanings of the following words: (4x1=4)
(1) Hospitable
(i1) Dominant
(iii)Durable,
(iv)Breed
(d) Answer the following questions in a sentence or two:
(4 x1=4)
1. What is technology?

2. What is the common feature between the
technologies developed by advanced and less
advanced civilizations?

3. In what respect is the modern technology different
from that of the past?
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4. What are the techniques used by the Eskimos to
better their life?

(i) Assume that you are the Purchase Manager of
Ken Group of Institutions, Madurai. Write a
letter calling for quotation for the purchase of
LCD projectors for your institution. Invent
necessary details, [C)]

Or

(i) Assume that you bought a laptop from a reputed
company in your town. Within a week of its
purchase, you find that it gives you trouble.
Write a letter of complaint to the company
asking for replacement of the laptop. 8)

Write a letter of job application for the post of
Production Engineer to the HR Manager, Ashok
Leylands Ltd., Chennai. Candidates should have
completed their B.E and must have minimum five

yeats experience in a company. Give a separate (
resume along with your letter. ® L
(i) Write a set of 8 recommendations that will help
to reduce the air pollution in the city. [€))
Or

(ii) Prepare a checklist for conducting sports day in
your college. ®

() Read the hints and develop them in to a
paragraph. (8)
Technology — sum total of the application of
knowledge — science generates information —
technology uses the general aspect — myriad
developments due to technology — life made easy
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Or
Write a Paragraph in ahoyt 200 words on the
need for job-oriented education, [¢:3]

Give the general structure of a techniea]
report. ®
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Or

(i) Explain the various stages involved in the
writing of a report. 8)

Write an essay not exceeding 500 words on “the role
of media as a medium of education”. (16)

Or

Write an essay not exceeding 500 words on “the
negative impacts of industry on environment”. (16)




